T £ T
FA AR LLIAT 706 781 889| 1,670
AL BB LLIET 1,060 1,220 1,336] 2,556
JLEEHT 2,320| 2,729| 3,006 5,735
HEBCHT 40 39 55 94
A& B O HT 20 27 37 64
& <FHT 42 61 59 120
PE &0 5 <F T 36 42 42 84
FiENHT 549 613 657 1,270
75 7 18 A BT 115 98 104 202
b8 A BT 22 30 36 66
ako0=1: 28 35 40 75
B aET 28 36 30 66
1 HT 47 61 76 137
A HT 60 78 78 156
ZEHT 46 42 58 100
HMEFRET 42 45 40 85
F T 48 74 77 151
= RHT 44 42 50 92
R ET 31 40 43 83
Eoikanlidl 36 34 48 82
SR T 66 69 90 159
Hea BT 38 52 56 108
S FHHET 51 46 63 109
N 191 225 253 478
= A BT 1,073| 1,178 1,353 2531
= H O 84 83 101 184
Fift = HT 13 14 14 28
it EHT 94 93 109 202
EHT 19 20 22 42
= EHT 46 54 58 112
H—TH 32 23 24 47
HWM=TH 26 36 33 69
HM=TH 87 96 110 206
HMmTH 34 39 42 81
HMATH 61 64 72 136




T £ HEY (B T

HI<TH 76 77 88 165
A= HT 30 28 32 60
iF SR = BT 49 63 62 125
L X THET 48 48 47 95
B AR THT 121 87 107 194
HNET 840 1,103| 1,177| 2280
B [E T 107 127 115 242
75 it BT 227 254 263 517
FAHT 234 331 351 682
K HETE 40 51 59 110
W & BT 122 152 162 314
NEFErHT 229 226 259 485
KEHT 115 117 151 268
AL BT 228 264 293 557
HiE H5 T 72 78 105 183
KIEET 19 23 23 46
% R T 9 10 13 23
e LLI BT 272 286 296 582
b, B T 68 69 78 147
7k B2 SFHT 151 171 196 367
i [ T 87 106 126 232
& H By 536 534 638] 1,172
Y, e T 223 220 250 470
LT 429 482 512 994
[/ Et) 11,567| 13,126 14,564| 27,690
21 - ET 1,953| 2298| 2492 4790
7% T 78 103 100 203
FZHT 125 166 161 327
AR EHT 190 215 231 446
X 3BT 152 169 208 377
[/ Et) 2,498 2951| 3,192 6,143
% HHET 1,016] 1,239 1.252| 2,491
13 BT 793| 1,002] 1,066 2068
541 BT 103 137 155 292
FHT 1,213] 1,523] 1,645 3,168




T £ T

LI FH BT 232 285 284 569
% H 1L BT 1,203| 1,409 1553| 2,962
FHHET 613 711 762| 1473
SR [ BT 866 1,099 1,140 2,239
[/ &) 6,039 7,405| 7857 15262
L =1EHr 61 93 98 191
T =488 963| 1,101 1.277| 2,378
gl 1,047| 1,218 1414| 2,632
= HRET 268 358 380 738
KiTHET 35 57 61 118
= B Ey 22 26 22 48
F F EPHT 116 179 198 377
XiRERT 441 490 424 914
[/ &) 2,953 3522| 3874| 7,396
12 H BT 193 260 275 535
A BT 46 65 79 144
=] 352 364 443 807
F ST 72 103 120 223
A 3k T 38 62 54 116
5L HT 217 312 324 636
Y A% T 36 58 71 129
FE L KHT 60 97 86 183
# AT 67 104 109 213
[/ Et) 1,081| 1425 1561] 2,986
K& <FHT 110 121 149 270
J\SEHT 137 202 232 434
Gi: 2N 123 150 172 322
5 ElFFET 746 849 833| 1,682
=T 187 208 263 471
iz 52 66 73 139
75 BT 113 148 151 299
th SR ET 37 464 453 917
55 F] T 415 490 496 986
X8 FH &R <F AT 23 26 40 66
8 H &R F AT 46 51 72 123




HT & HEY (B z

6 FH &R AL BT 1,045| 1,339] 1429 2768
BR F0HT 67 77 90 167
[/ Et) 3,435| 4,191| 4453| 8644
/N SRHET 4571 5298| 5781| 11,079
INFRET 1,043| 1,277| 1328 2,605
B i 559 687 718 1,405
AT 331 372 393 765
=2 T 54 78 76 154
/NER T 359 488 497 985
Az RET 141 175 170 345
A Fh T 209 311 312 623
Jiti [58 =F HT 329 403 426 829
75 FH A BT 466 509 528| 1,037
INRETER—TH 117 121 147 268
INRETER_TH 159 153 154 307
INRETER=TH 217 277 307 584
INKETEE—T B 27 28 26 54
INKBTFEZT B 52 67 71 138
INKBTEE=T B 80 89 84 173
[/ Et) 8,714/ 10,333| 11,018 21,351
[ & ) 36,287| 42,953 46,519| 89,472
AN P 3 441 410 425 835
(& Ef) 36,728| 43,363 46,944| 90,307




